Bd 2 AR FIIEEARAY | EHHEF - Foy - BT REHP 2

T % R AN OB

- CHEHE I ERAA £ 24
()1 FHFEHER 4 BRRE —20C » 27 o4 12 BHVRIEZE —4°C » szl a9 Ng T2 /b 2
(A)EF+1C  (B).LJF2C (O FRELIC (D) RFE2C
()2 FE12-7x(—32)+16%(—4) ZE R ?
(A)36 (B)—164 (C)—216 (D)232
()3 TNHIfaf=EgEE ?
(A(—11)+6=—(11—6) (B)(—8)+15=15—8 (C)(—59)+35=—(35—59) (D)72+(—84)=—(84—72)
()4 FHIRE s 2
(AR EA(—3) B(4) WYRRIEFRGE  (B)EER AR AUEAYRR  (C)34R I 0 B 1 7 RS R 25 {lERh
(D)FEEER T 6 HYRE LA —{E
()5 &ME 125+6x (6—3x3)° Z{H Ffof ?

(A)—37 (B)37 (C)28 (D)42

()6 BEREA-B C=RPTRmHVE U HE—813~ —14 > JJAB + BC + CA =7
(A)54 (B)35 (C)14 (D)7

()7 (—8)—15 il EM—(EE &R 07
(A)—7 (B)7 (C)—23 (D)23

()8 Ea=—7>b=121  FHIAEERN?
(A)[a+b| (B)la—b| (Olal+lb]l (D) lal—1|b]|

S NBEAK A4S S E 8L

1 HETFHIER
(1) (1P (1) (1P H (1) (—1)=__(1) -
(2) ((—1)+9)%x(—2)—10=__ (2)

2. AH -~ ZWERT o R ayE i ERTR 0 R (3) RBFRIECN - (HEHEZ)

3. &M (—12)—(—53)—45+(-55)=__ (4)
4. sHEEAE FHIRE

(1) Eb#e—3~ [ —2]| ~0~ | —1%| C3HVAUNBEI R R () - (H/INERHES)

F1H



10.

(2)EE I EEER FAA_(6) ~B_(7) ~D__(8) ~F_ (9) R R 0 (2 53 /18)

B C
L
A

e

(3) 3k | —16+3 | —5+(—9)ZHX&=__ (10) .
(4) EAEE EP(13) Q(—7) Ji%: > I PQ AIPEEAiE s (1) -
Hl—al=13|b|=5-Hl|a|—|—b|=_(12) -

S (7-15)— (—49—10—(—8)) =__ (13)

EHE o ABAER —5 - BIEA LT 10 (MR > CE B /218 S (HEfI £ » DAE C /218 13 (HERAI & - HIl D Bisk
e (14)

HE T

(1)(—17)+59+(—33)=__ (15) o
(2)55+(—21)+(—79)=__ (16) .

(3)9+(—2)x (18— (—3)x2] +4=_(17) .

&

SEPE S — R B - Sk AT RS A SR B A A 2 % - IR A A 1 (EER > RIBEER{AkE 5 BEA
CEEMEErSER_ (18) {H -
CHIA=1.2%x10%~ B=5.4%x10 * > HIA - BWEHIA/ NGB (19) -

IEp

W

[FHEER > #£(2)H]

2 H



